

			Vendor	Ranking			Page 1 of 1
Letting:	03220519	May 19, 2022 02:00 pm	Call Order	: 004	Contract:	E3V91-R0	
District:	District 3		Counties:		Fed Aid No		
Contract Time:	06/30/23 CC	DMPLETION DATE		JACKSON, WASHINGTO	N Project(s):	42212227206 (*	·)
Contract Desc:	MARIANNA	MAINTENANCE - TREE REI	MOVAL				

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COLLINS LAND SERVICES, INC	Responsive	Winning bid	\$196,500.00	100.00%
2	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Non-Winning Bid	\$236,965.00	120.59%
3	AMG OPERATIONS, LLC.	Responsive	Non-Winning Bid	\$265,750 <u>.</u> 00	135.24%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$325,650.00	165.73%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY

MAXIMUM AMOUNT TO BE EXPENDED \$200,000.00

FDOT
y y

Page 1 of 6

Letting:	03220519	May 19, 2022	Call Order:	004	Contract:	E3V91-R0
District:	District 3		Counties:		Fed Aid No:	: N/A
Contract Time:	06/30/23 COM	PLETION DATE		JACKSON, WASHINGTON	Project(s):	42212227206 (*)

Contract Descr: MARIANNA MAINTENANCE - TREE REMOVAL

The work under this Work Document-driven contract consists of removal of various species of trees and stump grinding within the right-of-way of state-maintained roadways in Jackson & Washington Counties. Tree and/or brush trimming may be necessary at some locations where trees are designated for removal; tree and/or brush trimming necessary only for accessing trees specified by the Department for removal is incidental to the contract pay items for tree removal and no separate compensation for these activities will be provided. Trimming of trees for other reasons may be occasionally required, and any associated compensation will be in accordance with the contract pruning and trimming pay items. Work also consists of the removal and disposal of waste and debris generated in the performance of this contract. Locations of trees to be removed and/or trimmed will be determined by the Department and provided to the contractor by the issuance of a Work Document on an as-needed basis. Maintenance of Traffic and Mobilization will be incidental to the pay items provided.

This contract will have a budgetary ceiling of \$200,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alterna	ate Quantity Units	(1) COLLINS LA		(2) FLORIDA RI CORPOF		(3) AMG OPE	RATIONS, LLC.
() indicates item is bid as Lump Sur	т	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TREE TRIMMI	NG AND REMOVA	L (MH				
0005 E580332 21 TREE REMOVAL (4" TO 12")	175.000 EA	100.00000	17,500.00	99.00000	17,325.00	200.00000	35,000.00
0010 E580332 22 TREE REMOVAL (13" TO 24")	375.000 EA	200.00000	75,000.00	279.00000	104,625.00	225.00000	84,375.00
0015 E580332 23 TREE REMOVAL (25" TO 36")	325.000 EA	200.00000	65,000.00	289.00000	93,925.00	250.00000	81,250.00



06/07/2022

Tabulation of Bids

Page 2 of 6

Letting:	. 03220	519 Ma	ay 19, 2022	Cal	I Order: 004		Contract:	E3V91-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COLLINS LA IN		(2) FLORIDA R CORPOR		(3) AMG OPE	RATIONS, LLC.
() indic	cates item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	1 (Т		NG AND REMOVA	\L (MH				
	E580332 24 MOVAL (37" TO 4	·8")	100.000 EA	250.00000	25,000.00	99.00000	9,900.00	275.00000	27,500.00
	E580332 25 MOVAL (> 48")		10.000 EA	400.00000	4,000.00	99.00000	990.00	300.00000	3,000.00
	E580334 1 Grinding (4" to :	24")	125.000 EA	20.00000	2,500.00	25.00000	3,125.00	75.00000	9,375.00
	E580334 2 GRINDING (25" TC	9 48")	200.000 EA	20.00000	4,000.00	25.00000	5,000.00	100.00000	20,000.00
	E580334 3 GRINDING (> 48")		5.000 EA	500.00000	2,500.00	25.00000	125.00	150.00000	750.00
	E580336 1 G AND TRIMMING	(4" TO 24")	20.000 EA	20.00000	400.00	39.00000	780.00	75.00000	1,500.00
	E580336 2 G AND TRIMMING	(> 24")	30.000 EA	20.00000	600.00	39.00000	1,170.00	100.00000	3,000.00
000	1 TREE TRIMMIN REMOVA		tion Totals:		\$196,500.00		\$236,965.00		\$265,750.00



Page 3 of 6

Letting:	03220519	May 19, 2022	Ca	all Order: 004		Contract:	E3V91-R0	
Line No / Iten Item Descrip		ate Quantity Units		AND SERVICES, NC	• •	RIGHT OF WAY	(3) AMG OP	ERATIONS, LLC.
•	() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:			\$196,500.00		\$236,965.00		265,750.00	



Page 4 of 6

Letting: 03220519	May 19, 2022	Cal	l Order: 004		Contract:	E3V91-R0	
Line No / Item ID Alternate	e Quantity Units	(4) MIDWI CONSTRUC	ESTERN TION, INC				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TREE TRIMMI	NG AND REMOVA	.L (MH				
0005 E580332 21 TREE REMOVAL (4" TO 12")	175.000 EA	50.00000	8,750.00				
0010 E580332 22 TREE REMOVAL (13" TO 24")	375.000 EA	250.00000	93,750.00				
0015 E580332 23 TREE REMOVAL (25" TO 36")	325.000 EA	400.00000	130,000.00				
0020 E580332 24 TREE REMOVAL (37" TO 48")	100.000 EA	550.00000	55,000.00				
0025 E580332 25 TREE REMOVAL (> 48")	10.000 EA	650.00000	6,500.00				
0030 E580334 1 STUMP GRINDING (4" TO 24")	125.000 EA	75.00000	9,375.00				
0035 E580334 2 STUMP GRINDING (25" TO 48")	200.000 EA	75.00000	15,000.00				
0040 E580334 3 STUMP GRINDING (> 48")	5.000 EA	75.00000	375.00				
0045 E580336 1 PRUNING AND TRIMMING (4" TO 24	20.000 +") EA	120.00000	2,400.00				



Page 5 of 6

Letting	g:	03220519	May 19, 2022	Са	Il Order: 004		Contract:	E3V91-R0	
	No / Item II Descriptio		te Quantity Units	(4) MIDW CONSTRU					
() ind	licates item is	bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	: 0001	(TREE TRIMMI	NG AND REMOV	AL (MH				
0050 PRUNIN	E580336 : IG AND TRI	2 MMING (> 24")	30.000 EA	150.00000	4,500.00				
00		RIMMING AND EMOVAL (MH)	Section Totals:		\$325,650.00				

Contract Grand Totals:	\$325,650.00		
------------------------	--------------	--	--



			Tabulation of Bids			Page 6 of 6
Letting:	03220519	May 19, 2022	Call Order: 004	Contract:	E3V91-R0	
		NOTE: Failui	re to file a protest within the time pre	scribed in section		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.